
３年生算数 あなあきかけざん①
なまえ

あな！

①３× ３＝２１

②１ ×４＝１６

③２× ３＝８

⑤６× ３＝１２

⑦１× ３＝７

④１ ×９＝５４

⑥１ ×４＝３２

⑧１ ×５＝４０

⑨７× ３＝４２

⑩１ ×８＝２４

⑪２× ３＝１８

⑬１× ３＝４

⑮６× ３＝１８

⑫１ ×３＝９

⑭１ ×８＝７２

⑯１ ×４＝２８

⑰５× ３＝１５

⑱１ ×３＝２１

⑲１× ３＝１

㉑９× ３＝３６

㉓８× ３＝６４

⑳１ ×７＝５６

㉒１ ×２＝１４

㉔１ ×７＝４９

はぴドリ！



３年生算数 あなあきかけざん②
なまえ

ゆっくりでOK

①５× ３＝２０

②１ ×２＝１６

③７× ３＝７

⑤３× ３＝１２

⑦２× ３＝４

④１ ×６＝５４

⑥１ ×８＝３２

⑧１ ×９＝５４

⑨６× ３＝４２

⑩１ ×７＝２８

⑪３× ３＝１２

⑬４× ３＝４

⑮３× ３＝１８

⑫１ ×８＝４８

⑭１ ×１＝９

⑯１ ×９＝２８

⑰５× ３＝５

⑱１ ×２＝１６

⑲１× ３＝４

㉑８× ３＝５６

㉓３× ３＝２７

⑳１ ×７＝６３

㉒１ ×４＝２４

㉔１ ×６＝３０

はぴドリ！



３年生算数 あなあきかけざん③
なまえ

Go!  Go!

①２× ３＝１０

②１ ×７＝３５

③４× ３＝８

⑤４× ３＝３６

⑦３× ３＝１２

④１ ×９＝２７

⑥１ ×７＝６３

⑧１ ×６＝３６

⑨５× ３＝２５

⑩１ ×８＝４８

⑪４× ３＝２０

⑬９× ３＝５４

⑮４× ３＝２８

⑫１ ×５＝４５

⑭１ ×２＝１８

⑯１ ×６＝２４

⑰２× ３＝１２

⑱１ ×８＝２４

⑲４× ３＝１６

㉑３× ３＝２４

㉓４× ３＝２４

⑳１ ×８＝４０

㉒１ ×７＝４９

㉔１ ×１＝６

はぴドリ！



３年生算数 わりざん⑤
なまえ

よーいどん！

③７×６＝

➃４２÷７＝

⑤６×４＝

⑥２４÷６＝

⑦４×３＝

⑧１２÷４＝

⑨７×４＝

⑩２８÷７＝

⑪３×８＝

⑫２４÷３＝

⑬５×７＝

⑭３５÷５＝

⑮５×８＝

⑯４０÷５＝

⑰７×２＝

⑱１４÷７＝

⑲４×１＝

⑳４÷４＝

㉑３×２＝

㉒６÷３＝

㉓９×２＝

㉔１８÷９＝

㉕７×７＝

㉖４９÷７＝

㉗５×６＝

㉘３０÷６＝

㉙３×７＝

㉚２１÷３＝

㉛８×３＝

㉜２４÷８＝

はぴドリ！

①２×３＝６

②６÷２＝３



３年生算数 わりざん②
なまえ

じしんあり！

③７×６＝

➃４２÷６＝

⑤６×４＝

⑥２４÷４＝

⑦４×３＝

⑧１２÷３＝

⑨７×４＝

⑩２８÷４＝

⑪３×８＝

⑫２４÷８＝

⑬５×７＝

⑭３５÷７＝

⑮５×８＝

⑯４０÷８＝

⑰７×２＝

⑱１４÷２＝

⑲４×１＝

⑳４÷１＝

㉑３×２＝

㉒６÷２＝

㉓９×２＝

㉔１８÷２＝

㉕７×７＝

㉖４９÷７＝

㉗５×６＝

㉘３０÷６＝

㉙３×７＝

㉚２１÷７＝

㉛８×３＝

㉜２４÷３＝

①２×３＝６

②６÷３＝２

はぴドリ！



３年生算数 わりざん①
なまえ

スタート！

③５×６＝

➃３０÷６＝

⑤４×４＝

⑥１６÷４＝

⑦４×５＝

⑧２０÷５＝

⑨２×４＝

⑩８÷４＝

⑪３×３＝

⑫９÷３＝

⑬５×２＝

⑭１０÷２＝

⑮１×８＝

⑯８÷８＝

⑰５×５＝

⑱２５÷５＝

⑲４×９＝

⑳３６÷９＝

㉑３×７＝

㉒２１÷７＝

㉓２×２＝

㉔４÷２＝

㉕３×６＝

㉖１８÷６＝

㉗２×６＝

㉘１２÷６＝

㉙５×７＝

㉚３５÷７＝

㉛４×３＝

㉜１２÷３＝

はぴドリ！

①２×３＝６

②６÷３＝２



３年生算数 わりざん⑥

なまえ

わっちゃって！

③５×６＝

➃３０÷５＝

⑤４×４＝

⑥１６÷４＝

⑦４×５＝

⑧２０÷４＝

⑨２×４＝

⑩８÷２＝

⑪３×３＝

⑫９÷３＝

⑬５×２＝

⑭１０÷５＝

⑮１×８＝

⑯８÷１＝

⑰５×５＝

⑱２５÷５＝

⑲４×９＝

⑳３６÷４＝

㉑３×７＝

㉒２１÷３＝

㉓２×２＝

㉔４÷２＝

㉕３×６＝

㉖１８÷３＝

㉗２×６＝

㉘１２÷２＝

㉙５×７＝

㉚３５÷５＝

㉛４×３＝

㉜１２÷４＝

はぴドリ！

①２×３＝６

②６÷２＝３



３年生算数 わりざん③
なまえ

わるよ！

①２×３＝６

②６÷３＝２

③９×３＝

➃２７÷３＝

⑤４×６＝

⑥２４÷６＝

⑦５×１＝

⑧５÷１＝

⑨２×８＝

⑩１６÷８＝

⑪３×６＝

⑫１８÷６＝

⑬５×９＝

⑭４５÷９＝

⑮１×３＝

⑯３÷３＝

⑰５×６＝

⑱３０÷６＝

⑲２×７＝

⑳１４÷７＝

㉑５×２＝

㉒１０÷２＝

㉓２×６＝

㉔１２÷６＝

㉕８×６＝

㉖４８÷６＝

㉗４×５＝

㉘２０÷５＝

㉙１×５＝

㉚５÷５＝

㉛４×２＝

㉜８÷２＝

はぴドリ！



３年生算数 わりざん④
なまえ

おちついて！

③９×３＝

➃２７÷９＝

⑤４×６＝

⑥２４÷４＝

⑦５×１＝

⑧５÷５＝

⑨２×８＝

⑩１６÷２＝

⑪３×６＝

⑫１８÷３＝

⑬５×９＝

⑭４５÷５＝

⑮１×３＝

⑯３÷１＝

⑰５×６＝

⑱３０÷５＝

⑲２×７＝

⑳１４÷２＝

㉑５×２＝

㉒１０÷５＝

㉓２×６＝

㉔１２÷２＝

㉕８×６＝

㉖４８÷８＝

㉗４×５＝

㉘２０÷４＝

㉙１×５＝

㉚５÷１＝

㉛４×２＝

㉜８÷４＝

はぴドリ！

①２×３＝６

②６÷２＝３



３年生算数 わりざん⑦
なまえ

やればできる！

はぴドリ！

③９÷３＝

➃２７÷９＝

⑤２４÷６＝

⑥１２÷４＝

⑦５÷１＝

⑧５÷５＝

①６÷２＝

➁２４÷４＝

⑪１６÷４＝

⑫４÷２＝

⑬８÷４＝

⑭１０÷５＝

⑮７２÷９＝

⑯３６÷４＝

⑨１２÷３＝

⑩１５÷５＝

⑲２４÷３＝

⑳２５÷５＝

㉑６÷６＝

㉒２＋３＝

㉓１４÷７＝

㉔６４÷８＝

⑰５÷１＝

⑱１８÷２＝

㉗２１÷７＝

㉘４５÷５＝

㉙６３÷７＝

㉚３２÷８＝

㉛１６÷２＝

㉜６÷３＝

㉕プリン

㉖１２÷３＝



３年生算数 わりざん⑧
なまえ

グッジョブ！

はぴドリ！

③３０÷６＝

➃５４÷９＝

⑤４９÷７＝

⑥２４÷４＝

⑦９÷１＝

⑧３５÷５＝

①９÷９＝

➁１６÷４＝

⑪２８÷４＝

⑫１４÷２＝

⑬４０÷８＝

⑭４５÷５＝

⑮８１÷９＝

⑯８÷４＝

⑨２４÷３＝

⑩４２÷６＝

⑲９÷３＝

⑳１５÷５＝

㉑３６÷６＝

㉒１０＋３＝

㉓５６÷７＝

㉔７２÷８＝

⑰３÷１＝

⑱１６÷８＝

㉗２１÷７＝

㉘３５÷５＝

㉙４２÷７＝

㉚４８÷８＝

㉛４÷２＝

㉜１２÷６＝

㉕ひるね

㉖２７÷３＝



３年生算数 わりざん⑨
なまえ

わりざんのプロ！

はぴドリ！

③２７÷９＝

➃１２÷６＝

⑤１２÷４＝

⑥１４÷７＝

⑦１５÷５＝

⑧７÷１＝

①２８÷４＝

➁１８÷９＝

⑪２４÷６＝

⑫１０÷５＝

⑬６÷２＝

⑭８÷８＝

⑮２０÷４＝

⑯３６÷９＝

⑨２４÷４＝

⑩２４÷３＝

⑲６４÷８＝

⑳１８÷６＝

㉑４５÷５＝

㉒１－１＝

㉓４８÷８＝

㉔６３÷７＝

⑰３÷３＝

⑱５÷１＝

㉗６÷３＝

㉘５６÷７＝

㉙４０÷５＝

㉚３０÷６＝

㉛６４÷８＝

㉜１６÷２＝

㉕いやし

㉖２１÷７＝



３年生算数 わりざん⑩
なまえ

もしかして天才？

はぴドリ！

③８１÷９＝

➃１８÷６＝

⑤１６÷４＝

⑥３５÷７＝

⑦２５÷５＝

⑧９÷１＝

①３２÷４＝

➁２７÷９＝

⑪３０÷６＝

⑫１５÷５＝

⑬８÷２＝

⑭１÷１＝

⑮１６÷２＝

⑯５４÷９＝

⑨２８÷４＝

⑩１２÷３＝

⑲４０÷８＝

⑳２４÷６＝

㉑２０÷５＝

㉒４９÷７＝

㉓４８÷８＝

㉔５６÷７＝

⑰２１÷３＝

⑱６÷１＝

㉗１８÷３＝

㉘６３÷７＝

㉙１０÷５＝

㉚３６÷６＝

㉛１６÷８＝

㉜４÷２＝

㉕ ÷４＝５

㉖３５÷７＝



３年生算数 わりざん⑪
なまえ

もしかして天才？

はぴドリ！

③４５÷９＝

➃１８÷３＝

⑤１２÷４＝

⑥３５÷５＝

⑦４０÷５＝

⑧９÷９＝

①３２÷８＝

➁２７÷３＝

⑪３０÷５＝

⑫１５÷３＝

⑬８÷４＝

⑭３÷１＝

⑮１６÷４＝

⑯５４÷６＝

⑨２８÷７＝

⑩１２÷４＝

⑲８÷８＝

⑳３÷３＝

㉑５÷５＝

㉒３５÷７＝

㉓７２÷８＝

㉔１４÷７＝

⑰２１÷７＝

⑱６÷６＝

㉗１８÷６＝

㉘６３÷９＝

㉙１０÷２＝

㉚１２÷６＝

㉛３２÷８＝

㉜１０÷２＝

㉕ ÷６＝６

㉖５＋７＝



３年生算数 わりざん⑫
なまえ

わりざんの神さま

はぴドリ！

③１８÷９＝

➃６÷３＝

⑤７２÷８＝

⑥１０÷５＝

⑦５６÷７＝

⑧３６÷９＝

①１６÷８＝

➁９÷３＝

⑪４２÷６＝

⑫２１÷３＝

⑬２８÷４＝

⑭４÷１＝

⑮１６÷２＝

⑯１２÷６＝

⑨４５÷９＝

⑩３６÷４＝

⑲６４÷８＝

⑳１５÷３＝

㉑４５÷５＝

㉒１４÷７＝

㉓５６÷８＝

㉔２１÷７＝

⑰２８÷７＝

⑱２÷２＝

㉗１８÷６＝

㉘１８÷９＝

㉙１４÷２＝

㉚４８÷６＝

㉛笑う門には
（ ）

㉕ ÷８＝６

㉖１５÷５＝
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